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Any candidate found with such 1tems will be reported agamst and hls/her candldature w1ll be
o summanly cancelled. '
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_ LIFE SCIENCES (ﬁwﬁwﬂ)
1. 'Whlch hormone delay leaf senescence 9 " :
S (A) Auxm (B) Cytokmm (C) Glbberellm (D) Florlgen :
| (A) wﬁm ®) wﬁtﬁmiﬁﬂ (C) T@TW@\%‘I"‘T (D) tmﬁt@r"f-

2. If, the chromosome number of an endosperm of a plant is- 3n = 27 then the nun 1ber of
- chromosomes in ovum w111 be :

@ 9 o® s © u D) 36 i
;aﬁwmwmmmmw3n=27mw@W%ﬂﬁa@cﬂmwtm.
'-(A) 9. '- oo® 18 © 27 (D) 36

‘,3., The part of potato mvolved in vegetatlve propagatmn is - :

(W) Seed (B Root (O Swem . ©) Leat :
_<A) A g(B) aﬂ_ @ @)

4. . Select what would be the genotyplc rat1o of F2 generatlon of a monohybnd cross|in case

~+of incomplete dominance. s i
(A) 31 i (B_)-‘i‘:2_:1. | (©) -9=:3:3;;1“~ '(D)-72:‘1:-1

awgwwwzﬁaﬁmwf%@awwmmw TABIER S 2e 5

5, 'When you add yeast to dough it rises. because
E _ (A) yeast cells reproduce by budding
" (B) buddmg yeast cells from chains . _
. (C) the rapidly reproducmg yeast cells release carbon dioxide due to resp1rat10n :
(D) of the bulk of the new yeast.cells D ;
AR SR S 2 T R i 3 1, L‘HWWW A TSR R
Ay mwwaﬁﬁmmﬁmttﬁrm| | : |
(B) - jwatﬂr@?mmﬁw aﬁﬁﬂmmﬁtﬁtw |
(©) FoTMIE mmﬁmwmwmwﬁvﬁﬁwm )

(D) gproRmagEIeRe . .
ANM(R)&GNM 201 Shifeny 2 - [ R
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| ANM(R) & GNM—ZOZI
6. . Clnomosome havmg cennomere near its tip is : S
e (A) Acrocentnc _ (B) Telocentnc (C) - Acentrlc " ‘(D).‘.' ‘Met-écentfic
‘FWMWWWWW%WWWWWWT Hﬁ§#
@ W ) BT (€ wiorks  (0) wherh

7. . Inwhich of the following stkage,doés DNA _duplicéte ? _

(A M-stage (B) "G, Stage ~  (C) S Stage (D) 6 Stage
AT T DNA-@F K el 7 7 GG
@) MR @) G S © sl ) Giwm

8. | The theory was not postulated by Darwm was— - :
 (A) Survival of the fittest R (B) “ Natural selectlon :
(C) Struggle for existence ‘ - (D) Inhentance of acqu1red characters'

.mmmmwm%mwm?
() Reibicerios o DR | -(B)-:_‘.;._zngff%avﬁ{nm | -
(O SEwTEAE (D) a@f@hﬁm@wﬁam

9. ' Which animal aﬁfloﬁgsf these show regeneration properties ? S .
(A) - Sycélllr . (B)". Snail - (©) ‘_M.usSel_' i (D) Planeria
e AR R AR TR Ty
@ Mm@ e © R (D) wmERR

10. Whichpaﬂ of the brain acts as relay center ? . _ o g
. (A) Hypothalamus. (B) Thalamus _ (C) Pons D) __Cerebellp;m :
n@mww\wﬁwmﬁwmwwr e
“(A) _trimmmmm (B) «EELT (C) (D) R

11. Identlfy Whlch of the followmg isnota structural cornponent of RNA P . |
(A) Ribose sugar  (B) . Urasil base (C) Thymm base (D)-;;' Phos_ﬁhor_ilega-qid 7

| ..‘%WRNA@'WW@WW? S e
W W @) AT () Qniﬁwm O whE Wk

.ANM(R)&GNM 3031 (Sluft . ' S A TR T iR AR,
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12, Hinge joint are present in- - .
| (A) Neck (B)“Shoulder S .(C) Sk (D) Knee’
- e oREe - - SR
(A) T ® W © @b D) '{@W -
.13‘; Which bacteria con\f'erfs mtnte fii;to:nitraté ? _ .
(A) N1trobactor (B)"' 'Nitrosdmonas ‘(C)_ C-loétridium (D) Thioba_.cillus’ _
@ g ®) R () eI () RERPEE
ﬁaemophilus Influenzae Type _ B vaccine is
(A) Conjugate vaécih*e. i (B)': Toxoid vaccine
(O Inactivated vaccme _ : | (D) Live, attenuated vacc11‘1e
f&cmmi‘amiﬁw@rﬁri‘ﬁ-ls ‘rB?ﬂra- e |
A) wIE O - (B) SEEe SR
© Femdade () SRodd
15. Bélance of body controlled by —
(A) Cerebelum  (B) Cerebrum |
(C) Pons ' . , (D) Medulla Oblongété
@ ﬂﬂﬂ'@‘ﬁf ® @w%‘ﬂf © wes (D) T
Other name of Christmas disease is o
- (A) Haemophilia A ‘ (B) Haemophilia B
Q) o-Thalassémia: + » (D) B-Thalassemia
Tt fofercera et 2t e |
| (A) 'f&mﬁ%mA (B) fsc:rﬁﬁ%ran - (©) anmmﬁﬂr (D) B'«’mamﬁm
B ANM(R)&GNM':EMI (Sh,ft_l) | TR e e e e o e e e
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The movement of Mimosa (Touch — nle-no'_tj 1eeﬂ'et'is i b 4
(A) Photonastic : (‘B) ‘. Therrnonastic" (C) ‘ Sei_s_;nonastic (D)A- --Ch,en;onastie
? (A) Wﬂf@m (B) err%b—om (C) Wf*fant@m(p) TS 5
18. ‘Which of the followmg hormone is not secreted by human placenta?
. (A) hCG B Estrogen (C) Progesterone (D) LH S
,'(A) hCG (B) ‘Q‘rﬁm © zrcwﬁm () LH
19. In the F, Generatlon of a Mendehan dlhybrtd cross the. number of phenotypes and ‘
genotypes are- ' , e
(A) Phenotypes—4 Genotypes —9 ‘ (B). Phenotypes-—9 Genotypes —_.4 o
‘ (C) Phenotypes~ 4; Genotypes— 16 - (D) Phenotypes 4; Genotypes 8
| TSN t%mw T zr&z?m?r S wefey 2 %wt t‘wmtmi‘vf 3 ffmtﬁ‘t?zm?f vmm
BCACE & 27
(A) tﬁfmﬁi‘m fﬁmﬁi‘w- ""(B)_ ReTABIR=1-9; ﬁtﬁtﬁi‘ﬁ-
(© ResRer4; bzl (D) fenRels; Reniges
.20. The ﬁfst-genetic'material-could‘b'e ‘ | o ‘
' a) Protein - (B) DNA- Q (C) RNA | .\(D)-. Carbohydrates
e Rt SR 7T - e ST
(&) T ®B) DNA (O RNA . (D) FCdasms
21. Analogous orgens._ari.se dueto- TR ;
(A) Arificial selection . (B) Geneticdrift, .
(C) Convergent evqutlon :’..:, : . ‘ (D.)'l"Divergent_evolution, o riestn
wa@wwm%qﬁmwm PR o |
() 3w e (B) ﬁﬁm‘ - © Wf—ﬂt?rﬁ?wa)) Wﬁﬁtﬁa@‘ﬁ

'ANM(R)&GNM—ZOZI(Shlft»l) T . | Bl R R
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22, From which cell of testxs, 1s‘ testosterone ‘hormone secreted ?

A

(A) Stemecells ~ - . . (B Germ cells |
©) Sertoli cells' . | (D) Interst1t1a1 cells"
'.@wmmtwrwm@wwmm?

(&) TOW TR/ S ® W

© smefreet '(D)'ﬁmﬁﬁﬁww

23. Nucleolar organizer region is found in—

A) Primary Construction = (B) Sébo‘hdary Construction -

(C) Satellite region ' (D) ~ Telomere regioh N
'ﬁ%ﬁmmwr?rwﬂf%mm S
@ afEiE B ‘tsﬁcrw |
(© pmmEeE (mzsme-mraemwm

| 24, 'Which._of the following is commonly used in Blood bank to prevent clotting of blood 7

(A) Heparin ~ (B) Hirudin *

(©) Sodium Citrate (D) Calcium Citrate
WWW@&'W@WW@W@?

@) @i | ®) Refr —
(© TGS (D) e TR

25. _‘ Rhlzome of ginger, tuber of pot‘at"o, tendril of pea plant are called -

(A) Homologous organ ‘ , (B) Analogous organ
(C) Vest1g1al organ B - | (D) Transplanted organ” :
Waffm@wv"ﬁwwwﬁa e i B e o ¢
A) TERgETE (B) gEE R
| (C) ffrw () deafewr
KNM(R)&GNM-zon (Shlft—l) T T T T T T T R
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- PHYSICAL SCIENCE fc@?lvﬁme) S st
Whlch of the followmg 1savector quantity ? , ; e e

@ Wegh @) Mass (C) .Area (D) Tlme
(A) o@m | (B) g | (C) Wrm—c«f (D) R

" brake?

A student was cychng to her school at a umform speed 10 m/sec She pressed the brake -
near the gate of her school and stopped in 5 sec. How much force she apphed through the .~

Consider the mass of the student and the cycle together is 50 kg e
(A) 50N (B) 200 N (C) 100N (D) 10N -

= ,@WET@ 10 m/sec WWWWWWEWIWW WI’TW '

BT @ smwrmmmla@%mwwaaﬁNﬁwm? 4T NG,

'-m@teﬂmﬁsmﬁwsokgl U : f

. 28,

: (A) 5oﬁ@1‘ﬂ - (B) 2ooﬁ@ﬁs '_(C) 1ooﬁ@ﬁ‘s (D) roﬁ@ﬁw

Select. the right answer

‘An object will float in a liquid while completely 11nmersed when o
(A) - its weight and'the buoyancy are equal (B) “its welght is- Iess than the buoyancy

- (C) its weight is more than the buoyancy (D) both Werght and buoyancy are zero. - .

29,

e Teafs v v
,wﬁaswswawmfﬁwﬁﬁewwmwﬁ o |
C(A) RBFETAGAROIAZTL. . (B) A G IO (UF T X
) ?@s@@ﬁwz@ﬂﬁ| L AD). @aemom@i*qmml
Select the rrght answer: '

A Helium atom contains .
(A)- four protons and four electrons. -~

. (B) four neutrons and four electrons.
(C) four protons and two electrons.

(D) two protons, two neutrons and two electrons

5T ol s o

aﬁfiﬁwchww . -
- (A) R B @ bl JeeET By mﬁi‘ﬁ@@wmﬁmﬂ "
- (© mtﬁtarﬁwvr%?mas R ) uﬁtﬁﬂiﬁﬁﬁﬁﬂeﬁﬁw

30.

“Atomic densrty of oxygen and mtrogen are respectrvely 32 and 28 “Also. at normal :
* . temperature and pressure, the volume of 32 gram of oxygen is 22.4 lrtre What w1ll be the
- volume of 28 gram of nitrogen at the same pressure and temperature Yo i

(A) 224litre ~ (B) 19.6 litre - (C) - 25.6 litre (D) 44 & litre .

| SfEEE 8 MG AR ¢Pg I 32 828 r;‘;_emn -w@r S, srm 32 at:r

'.- wﬁramwzmﬁﬁ‘m@m@ dﬁw@re,
ol

"? Ay 224%611 (B) 19;’61%131?_1 (C) 256%% j (D) 4481’-51ﬁm

ANM(R'")“& GNM—2021 (Shlft-l) o 7 T TR A e ;; :
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31, Suppose that at any cettain ternperature 20 g of comition Salt dlssolved in 50-g of water

makes a saturated squtton Then what is the solublhty of common salt in: water ?

@a 70 . - ® 40  © 30 D). 1000
| Wﬁmﬁﬁ@mﬂmmngogﬁTW‘TE?‘T@IHLﬂWWWW‘TW‘ﬂTIﬁFH
SRR W & T Gy 97

(A) 70 o®.40 0 © 30 - (D) 1000

32. In the following table select the correct matchmg between the compounds named 1n ﬁrst
" column and the classuﬁcatlon names given in the second column :

Compound Classnficatlon
1. CaO ‘_ a. Acid
2. NaOH | b "Base
3. CaCl, ‘ c.  Alkali -
- |4 BNO; . |doosdlt | |
(A) 1b,2¢3d4a (B 1a,2-b3-4d
Q) 1-d,2-¢,3-a,4b (D) 1-b,2-d,3-c,4a
: ﬁmm%ﬁwwmmmmﬁawﬁ@awmmm?ﬁmﬁamm@m
. ﬁdfaWt .
Compo‘und : CiassiﬁeatiOn
1. CaO - 4 a. i
2. NaOH | b, =83
3. CaCl, | c =W
|4 HNO, | d. 7R
A) 1b2c3d4a (B lazbicdd
(C) 1-d, 2-c, 3-a, 4-b ‘ (D) 1-b, 2-d, 3-c, 4-a ~ -

33. Select the r1ght answer.. : : .
. If a ball is thrown: straight upward, then when it reaches its. hlghest posmon 1ts
(A)= potent1a1 energy is zero- and kinetic energy is also zero.’ e
®3) potential energy 1s maximum and Kinetic energy is zero.
(© potentlal energy is zero and kinetic energy is maximum.
(D) potential energy is equal to krnetic energy "

T3 Tuels v 21 | ' '
qﬁmm@mmﬁmmﬁ%@ﬁﬂ?ﬁsﬁw@tﬁ@ww N
(A) WW@W‘WN! (B) %%n&smﬁ“weﬁ%%ﬁatw|
© fi%nﬁ?wwﬁw@?wﬁarﬂn - (D) RfofE s e e

ANM(R) & GNM—ZOZI (Shlft—l) : 8
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" If the volume and pressure of a certam amount of an 1deal gas are respecttvely V,and P

'ﬂ_ ‘at.an absolute temperature T and V -and P, respectively. at another absolute temperature

T,, then wh1ch of the followmg equlvalence relatlon is correct ‘7

(A)-'PV PV2 _ | | B PTi P2T2
R T
: (C) _V TIFVZTz' . . e (D) PVT1 _'PZVZTZE- o

| ﬂﬁﬁ@ﬁﬁ%ﬁﬁﬂqmﬁﬁﬂnmt WWWGW’RIWV @P]

L TERT, mm‘awﬁmvze P2m—csﬁltwwwwﬁﬁcﬁw%w

. 'P,v PV, | | PT, P,T,

) = G AR Bl B), R RS

' _Tl" T _ B T VZ. i
- © vI,7°vr, . (D) PyViT =PVl

35,

- 36.

When parallel rays of hght commg from a faraway dlstance falls on a concave nnrror :
parallel to its main ax1s they meet at a point after 1eﬂectlon Th1s point is called '

- (A) pole A (B) centre of curvature (C) focus D) axis
RS YT AT

S "eﬁtﬁﬂﬁﬁcﬁﬁmwwwﬁw .
Wﬂ?eﬁﬁwﬁ%@mlmﬁﬁrﬁw g

w wE ‘_'A(B) TFATE (O wtw (D)‘W’

' Suppose that the focal length of a convex. lens is f. The if an object 1s placed at one s1de

of the lens on its axis at a distance 2 _
(A) ~An mverted xmage will be:created on the other side of thelens at a distance f.

i B) An erect 1mage w1ll be created on: the other. side of the lensat a distance 2.

(C) An. erect image will be created on the other side of the lens at a d1stance f.

(D) An inverted i image will-be created. on the other side of the lens at a distance 2f o
H IR aﬁWWwwfn wmﬁawﬁﬁweﬂ@% 2f
vy 93 T W .
(A) Wwwﬁcafm Gf5 S a%ﬁwﬁ‘m o i
(B) TR W fAE 20 TR, eeﬁwﬁsaﬁﬁsﬁw; R

(©) TSR e g 99 e e e

(D) Wﬂawﬂﬁ@f 2fvm§ aaﬁ%mﬁw ﬁ%ﬁﬁ’ﬁfﬁ

ANM(R)&GNM-2021 (Shife-1) T T T RS TG
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Select the correct answer.

: _When a ray of monochromatlc hght of red colour passes through a prlsm we get on: the :

other side . A

~ (A) onlyone red coloured band of lzght _
(B) -seven bands of light of colours: violet, mdlgo blue green yellow orange, and red

(C) only one band of hght of green colour
(D) no band of lightat- all.” ' »-

WW%@Wl ‘
ﬂﬁﬂﬁﬁt@ﬂﬂﬁﬁﬁlﬁﬂﬁmﬂﬂﬁmmﬁ??ﬂm
(A) mﬁwmaceﬂ 8 e MR |

(B). T, N, RN, A, T, DA @ AT di*vfrefﬁ‘ateaﬂmﬁrwm:
() r_mffﬁ*mwatewi@wrww: | -
- (D) mwﬁi‘mﬂrmm |

Which one of the following’ elements does not eas1ly part1c1pate 1n any cherrucal

38.
-reaction ? O
(A) Carbon . (B Sodmm | ©) Argon o (D) Nieke'l"
-ﬁw@ﬁmﬁam«mﬁmmmﬁeﬁ@w\mﬂmm
) SeC | (B). tﬁmm (C) wrsfcr oy e
- 39. The foul smelly gas that evolves when dilute sulfuric aCId reacts. w1th ferrous sulﬁde at
o _normal temperature is . ‘ en i
A) hydrogen sulfide o '(B) metharie‘ ’
(C) carbon monooxide = - (D) nitrogen P g '
WW@WWWWWWWWWNEWW
- SRAR TG &
(A WTCWWI?@ . ®) fm
© Wﬁmﬁ? o oy mitﬁrcer—»(
Whlch of the foliowmg isan eIectrovalent compound ?
(A GH, - ® co, . © NaCI ©® HO
_ Wmmﬁﬁwmﬁmtﬁw LR
A CH, ® Co, © NaCl (D) H,0
ANM(R)& GNM2021 Shitey Ty v
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Co ""‘ARIT'H'MATIC (vtrﬁﬂf%)
_:A solid brass sphere of- chamefe‘r 42 cm- is hammered to make a 7 om long cylmder What
- will be the dlameter of the cylmder ? '
i _(A) 84 cm (B) 42em. (C) 21 em 't (D) Tem- :
42 cm"ﬂm aﬁﬁ@ﬁﬁemscwfaﬁmuﬁ 7. cmﬂﬂtﬂﬂ?ﬁ?@?ﬁw
| (A) 84em (B) 42 cm (C) 21 cm (D) 7 cm
42, Ram and Madha‘o together completes a job in 4 days If they work separa e y, Madhab
.. needs 6 more days than what Ram needs to complete the _]Ob In how many days will Ram
~ alone complete the job D s 5 . -
(A) 12days (B) 3 days (C) 6 days o (D) 9 days
LW g T G G2 e 4 o T 9 | WWWWWWﬁ_’tW
A, ma@awwmﬁﬁstaﬁfmmmmmmﬂewﬁmmwr ;
(A) 12%{ . (B) a3fq ©y 61%71' (D) 91’1%'-1
Ratio. of volumes of tWO cubes 1s 1 27 The ratlo of thelr total surface area is ,
S (A) B e E Gy (D) 1 18 :
qﬁswmwwvnm 27 rmemmaecaa TR S A
(A). e (B) L9 e (O (n) 1:18
When a certaln number is added to each of the numbers 2 4 6 and 10 the resultant
urnbers are ratio metric. What is that number T e T s
o ®)..3 - (B) 4. - (C) 5 . (D) 2
2,4,6610 -7 Wﬂmmmwmﬁwmﬂa@%mﬁm?
C(AY Bl : (B) 4. (C) -5 1 (D) 2
- 45, - If the present populatlon of a v1llage is N and the yearly rate of rise.of populatlon is 2x%,
: what will be the. total. populatlon after 5 years.?. O St i
. (A). N(1.+m") D : (B) N[l +50)
. o e ST .
T LY - 1 (=) SR
aaﬁmmmwwmrr s a@mw\wqﬁamzx%wsm mmﬁ o
(A) N [1 + 100] o S (B) NpkEgg)h o o
e e A s T ca I Sy ARSI
- © N(H—looj T (D) N[l-—g‘@)
ANM(R)&GNM 2021 (Shrft-l) s T SRR F 3 e PR A R S
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ENGLISH GRAMMAR (2380 W‘t)

46. Choose the word, which has nearly the same meaning as ADMONISH . .
(A) Praise : (B) Appeal ©) Support - D) Rebuke :

" 47. Choose the word, whlch is oppos1te in meanmg to JEER. ' _ .
- (A) " Clear: - (B). - Mock - (C) Pralse"-'- 3 (D) Sneer

48. Choose the word that can replace both the words in bold 1tal1cs in the two grven -
sentences. :
I.  The management did not find him suitable for the _]ob of a clerk.
~ II. . Akash could not arrange all parts of the machine properly. ,
@ fit - (B) employ : - (© ﬁmsh : (D) acIJust '

49. Choose the word, Whrch can most approprlately replace the bold 1ta1101zed words in the
given sentence.
A person.can be sentenced to. death for killing another h uman bemg .
' (A) patrlclde (B) hom1c1de - (C) genomde A (D) fratncrde _

50. Choose the optron which can: best replace the group of’ words given :

‘One, who possesses varied talents’
(A) versatile (B) talented (&) g1fted _ (D) excellent

51. Observe . the two 1ta11c1zed Words in the followmg two sentences and glve your
-observation by choosing any one optxon below. .
- L We should not intetfere in'one’s personal affairs.
1.~ The personnel of civil services are a proud lot.”
~(A) Only sentence-I is correct.
(B) Only sentence-II is correct.
(€)' Both sentences I and II are correct.
(D) Neither sentence I nor sentence II is correct. - -

52. Choose the most effectrve word to fill. m the blank to make the sentence meanmgfully ,

complete.

Only those who have completed seventeen years of age are _ __to apply for the
examination. .

(A) el1g1ble (B) 1eg1ble (C) selected (D) 1lleg1ble ,

53. Fill in the blank wrth the most appropnate word/group ‘of words to make the sentence
meaningfully complete. .
- The horse stampeded andtore: ~ * the street , : ) '
_(A) after . (B) off (C) down D) out ‘

54. Fill in the blank with the most approprlate word/group of words to make the sentence
' - meaningfully complete. .~ . ‘
Mohan tries his best to keep " the reputatlon of his famlly. o

(A) up . : (B) over - (©) to (D) on

55. Find out wh1ch part of the sentence has an error.
If we have faith in Alm1ghty / everything will turn out / to be alnght and safe
e T e © "o
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.(C) Yamwla Nagar - D Sangampurl

| ANM(R) & GNME2021
GENERA . KNOWLEDGE (‘J‘IT&TWT -am)

X
20 ‘.".

,‘JungleBook’ waswnttenby ;;j:'_‘-‘ e AP o

(A) Satyajit Ray C A o (B) "A:nita Desai

(C) CharlesDickens ‘(D) RudyardKipling-

‘Jungle Book® 326 fertafRt:

@ el ® SRelTHE
© wRER s OB

What is the new ofﬁc1al name of the 01ty ‘Allahabad’ ?
(A) Prayagraj _ e 5 B) - Sarabha1 Nagar La

A) AEeRE - - (B) TSR
© wEwR @y TR

Second world war ended'with:-_thé defeat of Germény m the yea_r.- Of B
(A) 1925 (B) 1965 (© '194_5,'.' D) 1955

- T A S Wmﬁ@ﬂﬁﬂﬁmﬂ?

- 39.

60.

(A dB3C S (B) Wwve (C) >ase - D) ->-$¢‘<é'

Monosodlum glutamate is’ commonly known as-

(A) Backmg powder (B) Table salt (C) Vinég-ar-j w0 (D) .- :: Ajinomoto
i 'WWW@W&IWW%WW? | Aigaende e amat 8

(A) aﬁa e (B) waqm ©®) _ﬁ-a—'mm . {D) WWW@‘T

thch one of the followmg is the 1argest gland organ in hurnan body 9

" (A) Heart . (B) L1ve_r (C) Appendlx b2 (1))' Stén‘_{ach o

@ w ® %—m - © Wﬁrw @ R

e b et ot e e i TS e e T g
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61.  Select the rlght option that will replace the question mark and contmue the pattem

_ _Ch_oose the right opt‘ion,;_-@w:-i = '
o - ..’"",-‘ o
@ ® A€ (D)

62.  Which of the following ﬁ.gu.res' does not bé]on‘g to the series ?

@w . ®  © o

. 63. Find the odd one out _ _ :
A) April - ®) May ‘ <c>- July ®) A-ugustp

64. Find the rlght option below where the two given words. have the same relanonshlp as,
‘LIGHT —CANDLE’ . PR
(A) Exercise — Strength ', -' _ o s (B) Power —Battery -
(C) Dieting ~ Overweight (D) Car —Engine -

65. Choose the right opt1on whlch wﬂl oomplete the first word and begm the second word
~ EX(..)ACLE | "
(A) pert ~(B) peet (©€) : pire. . (D) tent

ANM(R) & GNM-2021 (Shife.1)y g™
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